Mi verbs

Present Aorist Imperfect Pres Subj Pres Opt
Rt E0wKa £6idouv 31d& d1doinv
didw¢ E0WKAG £8idoug 31dé&¢ d1doing
didworv £0wke £81dov 31d& d1doin
didouev £douev £8idopuev d1dduev d1doiuev
didote £dote ¢didote diddte d1doite
didworv £dooav ¢didooav d1ddot d1doiev

* NB variable stem with long/short vowel

* Present participle: 81800¢, 818000q, 8186V (d180vT-)

* Aorist particple: dovg, doboa, d6v (dovt-)

e Infinitives: 8186vat, dodvat
Stem Present | Future Aorist Perfect Aor1§t Aorist

passive | Imp

do Rt ddow E0wKa dédwKa £8660nv dd¢
oTa lotnut oTHoW gotnv/éotnoa | €otnka gotadnv otfot
O TNt fNow £0nka TEONKQ ETEONV 0ég
¢ nut -How -NKa -€lKa -€10nv dopég
Pa Pnui Priow Epnv

* iotnut can be intransitive (usually, ‘I stood’, with strong aorist) or transitive

(rarely, ‘I set up’, weak aorist)

* inutis usually found in compounds (often with de-)




